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1. The ciliated columnar epithelium is present in _______ . 
Ans: bronchioles and Fallopian tube 

2. ________ types of cells line blood vessels. 
Ans: Squamous Epithelium 

3. Gap, tight and adhering junctions are found in ______ . 
Ans: Epithelial Tissue 

4. ______ types of epithelial cells form Stratum germinativum. 
Ans: Columnar 

5. An epithelial tissue having thin flat and closely packed cells that are arranged edge to edge 
are found in ______ . 

Ans: the inner lining of cheeks 
6. ______ layer has actively dividing cells. 

Ans:  Malpighi 
7. Tissue having very less or no intercellular matrix is ______ . 

Ans: Epithelial  
8. The inner lining of the vagina, urethra and oesophagus is made up of ______ . 

Ans: Stratified squamous epithelium 
9. Simple cuboidal epithelium is found in ______ , ______ and ______ . 

Ans: Thin bronchioles, Choroid of eye and Sweat gland 
10. Lining layer of fallopian tubes, bronchi and bronchioles consists of _____ . 

Ans: Ciliated epithelium 
11. Transitional epithelium is found on ______ . 

Ans: Urinary bladder 
12. Lining of intestine of man is ______ . 

Ans: Brush bordered 
13. Compound tubular gland is ______ . 

Ans: Brunner’s gland 
14. Globet cells of intestinal epithelium are examples of  ______ . 

Ans: Columnar epithelium 
15. Epithelium of bronchi is ______ . 

Ans: Pseudo stratified ciliated columnar 
16. Compound tissue is defined as _______ . 

Ans: Different types of cells performing one function 
17. Curved portion of the Henle’s loop of the nephrons are lined by ______ . 

Ans: Squamous Epithelium 
18. Endothelium blood vessels is made up of ______ . 

Ans: Simple squamous epithelium 
19. Non keratinized stratified epithelium occurs in ______ . 

Ans: Vagina, cervix, buccal cavity and anus 
20. Gap, tight and adhering junctions are found in _______ . 

Ans: Epithelial tissue 
21. ______ types of epithelial cells form Stratum germinativum. 

Ans: Columnar 



22. An epithelial tissue having thin flat and closely packed cells that are arranged edge to edge 
are found in ______ . 

Ans: the inner lining of cheeks 
23. ______ layer has actively dividing cells. 

Ans: Stratum malpighi 
24. Tissue having very less or no intercellular matrix is ______ . 

Ans: Epithelial 
25. The inner lining of the vagina, urethra and oesophagus is made up of _____ . 

Ans: Stratified squamous epithelium 
26. In comparison to human erythrocytes, frog’s erythrocytes are ______ . 

Ans: nucleated and with haemoglobin 
27. Tip of the nose and external ears have ______ . 

Ans: cartilage 
28. Mast cells contain ______ . 

Ans: heparin and histamine 
29. The largest extracellular material present in the _____ . 

Ans: Areolar tissue 
30. Peptidoglycan present in the cartilage is ______ . 

Ans: chondroitin 
31. Antibodies are secreted by ______ . 

Ans: plasma cells 
32. Histamine is secreted by ______ . 

Ans: mast cells 
33. Ligament is a modified ______ . 

Ans: yellow elastic fibrous tissue 
34. Collagen is _____ protein. 

Ans: fibrous protein 
35. _____ contains the largest quantity of extracellular material. 

Ans: Areolar tissue 
36. When collagen fibres are removed from the areolar tissue, tissue becomes _____ and 

______ . 
Ans: loose and elastic 

37. Body’s weight is formed by connective tissue occupying ______%. 
Ans: 30% 

38.  The types of fibres found in connective tissues are _______ , _______ , and ______ . 
Ans: Collagan fibres, Elastic fibres and Reticular fibres 

39. Below the skin, the fat is in the form of ______ . 
Ans: Adipose tissue 

40. Whale is a warm-blooded animal which lives in cold sea. Which organ of its body makes 
it hot ______ . 

Ans: Blubber 
41. Primary function of subdermal fat in the skin of mammals is ______ . 

Ans: To act as a heat proof  matter 
42.  ______ is not a fibrillar protein. 



Ans: Albumin 
43. Camel’s hump is made up of ______ . 

Ans: Adipose tissue 
44. The giant cell is formed by the fusion of ______ . 

Ans: Macrophage 
45. ______ cells of connective tissue secrete antibodies. 

Ans: Plasma cells 
46. The areolar tissue connects ______ . 

Ans: Muscles and their compound 
47. Debove’s membrane is a layer of ______ . 

Ans: Connective tissue 
48. Histiocyte is a connective tissue cell, the function of which is ______ . 

Ans: Phagocytic 
49. The main function of connective tissue is ______ . 

Ans: Binding together other tissues / Supporting various parts of the body / Forming a packing 
around organs 

50. Connective tissue is ______ . 
Ans: Mesodermal in origin with intercellular spaces 

51. Ligaments and tendons are ______ . 
Ans: Fibrous connective tissue 

52. The main difference in white and yellow fibres is of ______ and ______ . 
Ans: Protein and colour of the fibres 

53. ______ cells is phagocytic in nature. 
Ans: Macrophages 

54. Vitreous humor is a ______ connective tissue. 
Ans: Mucoid connective tissue 

55. Function of adipose tissue is ______ . 
Ans: Fat storing tissue, Helps in homeothermy, Acts as shock absorber (can write any one of the 
function) 

56. ______ helps in maintaining body hot. 
Ans: Adipose tissue 

57. ______ tissue helps in maintaining body hot. 
Ans: Adipose tissue 

58. The ground substance of connective tissue is basically composed of ______ . 
Ans: Mucopolysaccharides 

59. Adipocytes are mainly found in ______ . 
Ans: Connective tissue 

60. The connective tissue that connects the skin to the underlying structures is ______ . 
Ans: Areolar tissue 

61. Ligament is a modifed ______ . 
Ans: yellow elastic fibrous tissue 

62. Rapid healing of wounds is found in ______ . 
Ans: Epithelial tissue 

63. ______ characteristic of yellow fibres of connective tissue. 



Ans: Provide toughness and strength 
64. ______ is a loose connective tissue. 

Ans: Areolar 
65. In mammals, histamine is secreted by ______ . 

Ans: Mast cells 
66. Reticular connective tissue is found in ______ . 

Ans: Spleen 
67. White adipose tissue contains ______ . 

Ans: Unilocular fat cells 
68. Mast cells are found in ______ . 

Ans: Connective tissue 
69. New born mammals generally do not shiver inspite of lower temperature outside because 

of ______ . 
Ans: Brown fat which has larger capacity for generating heat 

70. Cartilage are present in the ______ ear. 
Ans: outer 

71. The cartilage is composed of cells called ______ . 
Ans: chondrocytes 

72. Bone cells are called ______ . 
Ans: osteocytes 

73. The matrix which surrounds bone cells is heavily impregnated with ______. 
Ans: calcium phosphate 

74. ______ suspends specialized red and white blood cells and platelets. 
Ans: Plasma 

75. ______ function is/are performed by blood connective tissue. 
Ans: Transports various substances  throughout the bodies of animals 

76. Division of joints allowing ample movement between 2 or more specific heads of bones 
are grouped as ______ . 

Ans: Diarthrosis 
77. Ligaments restrict this action ______ . 

Ans: hyper extension and hyper flexion 
78. In muscle contraction, this ion is essential ______ . 

Ans: Ca 
79. This is an example of stretch reflex stimulated by passive muscle movement ______ . 

Ans: patellar reflex 
80. This is a major energy source in a hurdle race to the leg muscles ______ . 

Ans: oxidative metabolism 
81. Muscles utilized for controlling the flow of all substances within lumen are grouped as 

______ . 
Ans: smooth muscles 

82. Division of joints fibrous in nature permitting no movement is ______ . 
Ans: synarthroses 

83. A small band of dense, white and fibrous elastic tissue is grouped as ______ . 
Ans: ligament 



84. In the striated muscles, the functional unit of contractile system is ______ . 
Ans: sarcomere 

85. The tissue which is composed of excitable cells is ______ . 
Ans: Muscles tissues 

86. The structure of muscle cells have ability to ______. 
Ans: contract 

87. Composition of microfilaments is _______ , _______ , and _______ . 
Ans: Contractile proteins, Actin and myosin 

88. ______ types of muscles tissue are present in the  body of vertebrate animals. 
Ans: 3 

89. Skeletal muscles are also called ______ . 
Ans: Striated muscles 

90. ______ type of muscles is responsible for the voluntary movements of the body. 
Ans: Skeletal muscles 

91. The type of muscles which form the contractile wall of the heart is ______ . 
Ans: Cardiac muscles 

92. Like skeletal muscles, cardiac muscles are also called ______ . 
Ans: Striated muscles 

93. The ends of ______ muscle cells are joined by structures called intercalated discs. 
Ans: Cardiac muscles 

94. ______ tissue is responsible for the control of the body and also for communication 
among different body parts. 

Ans: Nervous tissues 
95. In ______ and ______ the nervous tissue found in the body of eukaryotes. 

Ans: Central nervous system and 
Peripheral nervous system 

96. The two categories of cells found in nervous tissue are _______ and _______ . 
Ans: neurons and neuroglia 

97. Among the different types of nervous tissue’s cells, ______ cell is highly specialized nerve 
cell that generate and conduct nerve impulses. 

Ans: Neuron 
98. A typical neuron consists of ______ , ______ , and ______ . 

Ans: Dendrites, an axon and the cell body 
99. ______ are responsible for responding to stimuli. 

Ans: Dendrites 
100. In contrast to dendrites, ______ are responsible for transmitting impulses over 

long distances from cell body. 
Ans: Axons 

101. The cell body is like a factory for the _______. 
Ans: Neuron 

102. Cell body produces all the proteins and contains specialized organelles such as 
_______ , _______ and _______ . 

Ans: nucleus, Nissl bodies and granules 
103. There is a cellular layer, outside the ___________ called the neurilemma. 



Ans: myelin sheath 
104. In the peripheral nervous system, ______ cells are neuroglia cells that support 

neuronal function by increasing the speed of  impulse propagation. 
Ans: Schwann cells 

105. Neuronal cell body consists of a/an ______ and rough endoplasmic reticulum or 
Nissl Bodies. 

Ans: nucleus 
106. The two types of neuron processes are ______ and ______ . 

Ans: dendrites and axons 
107. ______ type of neuron convey incoming messages towards the cell body and is 

therefore called the receptive input region. 
Ans: Dendrite 

108. The axon can have terminal branches ______ . 
Ans: many 

109.  
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Unit 3: Reproductive System 

Group-A 
I. Fill in the blanks. [carrying 1mark each 

1. _______ is the structural and functional unit of testis? 

Ans: Seminiferous tubule 

2. Interstitial cells produce ______ hormone. 

Ans: Testosterone 
3. _______ hormone is responsible for the development of male secondary sexual characters? 

Ans: Testosterone 

4. The mature ovum passes into the fallopian tube through_____ . 

Ans: Ostium 

5. Sertoli cells are found in _______ organ of mammals. 

Ans: Testis 

6. Sertoli cells provide nutrition to _______. 

Ans: Sperm 

7. The Leydig’s cells in human are the secretory source of _______ hormone. 

Ans: Androgen 

8. In a sperm, mitochondria occurs in _______.  

Ans: Middle piece 
9. _______ hormone is responsible for the inhibition of ovulation. 

Ans: Progesterone 

10. Sertoli cells are found in ______.  

Ans: Seminiferous tubules 

11. The capsule enclosing testis of human is ______. 

Ans: Tunica albuginea 

12. ______ is the unpaired gland in male reproductive system. 

Ans: Prostate gland 

13. In many mammals, testes remain outside body cavity in scrotal sacs because ______. 

Ans: Spermatogenesis occurs at a temperature lower than that of body 

14. Scrotal sac of man is connected with abdominal cavity by ______. 
Ans: Inguinal canal 

15. The duct which carries sperms from testis and epididymis to penis is ______. 

Ans: Vas deferens 

16. The skin covering the glans penis is called ______.  

Ans: Prepuce 

17. The abdominal passage which connects the abdominal cavity with the scrotal sac in mammal is known 

as ______. 

Ans: Inguinal canal 

18. Capacitation occurs in ______. 

Ans: Female reproductive tract 

19. A temporary endocrine gland in the human female body is _____. 
Ans: Corpus luteum 

20. Gonadotrophic releasing hormone is a hypothalamic hormone needed in reproduction, acts on ______ . 

Ans: Anterior pituitary and stimulates secretion of LH and FSH 

21. ______ part of the epididymis receives Vasa Efferentia. 

Ans: Caput epididymis 

22. ______ is the chromosome number in the Sertoli cells of testis of human male. 

Ans: 23 pairs 

23. Fertilsation in humans is practically feasible only if ______ .  

Ans: The ova and sperms are transported simultaneously to Ampullary-isthmic junction of the Fallopian tube 

24. Location of Leydig cells and their secretion are ______ . 

Ans: Testis- Testosterone hormone 

25. ______ type of cells divide to form sperms and ova. 
Ans: Cuboidal cells 

26. ______ process is for the transfer of sperms into the female genital tract. 



2 
 

Ans: Insemination 

27. ______ one is the male primary sex organ. 

Ans: Testis 

28. The region where the sperm enters the egg is called ______. 

Ans: Reception cone 
29. Gubernaculum is the ligamentous connective cord which connects ______.  

Ans: Testis to scrotum 

30. Spermatozoa matures in ______. 

Ans: Epididymis 

31. From _____ part of spermatid, acrosome is formed.  

Ans: Golgi bodies 

32. Cervix communicates with body of uterus through ______. 

Ans: Internal os 

33. ______ hormone promotes the accessory sexual characters in female. 

Ans: Oestrogen 

34. The product of 1st maturation division in testis is known as ______. 

Ans: Secondary spermatocyte 
35. Development of spermatozoa is stimulated by ______ hormone. 

Ans: Follicle stimulating hormone 

36. ______ number of spermatozoa are produced by a secondary spermatocyte. 

Ans: Four 

37. The shared terminal duct of the reproductive and urinary system in the human male is ______ . 

 Ans: Urethra 

38. Middle piece of sperm contain ______ . 

Ans: Mitochondria and axial filament 

39. ______ hormone controls the proliferation of endometrium of uterus in human female. 

Ans: Luteinizing hormone 

40. ______ is the site of fertilization in human female. 
 Ans: Fallopian tube 

41. Menstrual flow occurs due to the lack of ______ . 

Ans: Progesterone 

42. Mature ovum enters fallopian tube through ______ .  

Ans: Ostium 

43. In human menstrual cycle, ovulation occurs ______.  

Ans: 14th day 

44. ______ develops into corpus luteum after ovulation.  

Ans: Graafian follicle 

45. Graafian follicle is observed in the ovary of ______ .  

Ans: Human female 

46. The expanded proximal part of oviduct in female is ______ . 
Ans: Fimbriated funnel 

47. The part of fallopian tube closest to the ovary is ______ . 

Ans: Infundibulum 

48. ______ represents a condition where the motility of the sperms is highly reduced.  

Ans: Asthenospermia 

49. During which stage of oogenesis, the number of chromosomes is reduced to half ______.  

Ans: Formation of 1st polar body 

50. The first meiotic division occurs during oogenesis occurs in _____ .  

Ans: Primary oocyte 

51. In human _____ is the ratio of number of gametes produced from male primary sex cell to the number 

of gametes produced from one female primary sex cell.  
Ans: 4:1 

52. Extrusion of second polar body from egg nucleus occurs after ______ .  

Ans: Entry of sperm but before fertilization 

53. The path where male pronucleus fuses with female pronucleus is known as ______.  

Ans: Copulation path 
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54. During fertilization, the sperm acrosome releases ____. 

Ans: Hyaluronidase 

55. The process of yolk synthesis is known as _______.  

Ans: Vitellogenesis 

56. During fertilization _____  part of the sperm enters into the egg during fertilization. 
Ans: Head 

57. Penetration of ovum by sperm during fertilization is assisted by ______ .  

Ans: Acrosome 

58. The fusion of pronuclei of sperm and ovum is known as ______.  

Ans: Amphimixis 

59. ______ type of cleavage occurs in the zygote of human female.  

Ans: Holoblastic and equal 

60. _____ type of extra-embryonic membrane in human female prevents the desiccation of the embryo 

inside the uterus. 

Ans: Allantois 

61. A change in amount of yolk and its distribution in the egg will affect ____. 

Ans: Pattern of cleavage 
62. Mammalian placenta is formed from____. 

Ans: Chorionic-Allantois 

63. Signals of parturition originates from ______ . 

Ans: Both placenta as well as fully developed foetus 

64. The first movement of foetus and appearance of hair on its head are usually observed during ______ 

month of pregnancy. 

Ans: 5th month 

65. ______ , ______ , and ______ are formed during gastrulation. 

Ans: Ectoderm, mesoderm and endoderm  

66. Notochord develops from _____ embryonic membrane. 

Ans: Mesoderm 
67. ______ germ layers develop into liver and pancreas. 

Ans: Endoderm 

68. ______ initiates metamorphosis in frog. 

Ans: Thyroxine 

69. Colostrum is the yellowish fluid which is secreted by mother during the initial days of lactation is very 

essential to impart immunity to the new born infants because it contains ______ . 

Ans: Immunoglobulin A 

70. Artificial labour pain is created by ______ hormone. 

Ans: Oxytocin and prostaglandin 

71. The human sperm is ____. 

Ans: Round 

72. Polar bodies produce ______ . 
Ans: Haploid cells 

73. Fertilizin and Antifertilizin act as ______. 

Ans: Lock and key 

74. During cleavage eggs divide into 

Ans: Blastomeres 

75. Umbilical cord contains ______ . 

Ans: Cord blood stem cells 

76. Acrosome is filled with ______.  

Ans: Digestive enzymes 

77. The ____ is a temporary organ which connects a mammalian mother to its foetus. 

Ans:  Placenta 
78. ____ type of asexual reproduction is seen in Paramecium.  

Ans: Transverse binary fission 

79. ____ type of fission is seen in Euglena.  

Ans: Longitudinal Binary fission 

80. ____ type of cell division forms the basis for asexual reproduction.  
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Ans: Mitotic 

81. In sexual reproduction, _____ type of cell division is found.  

Ans: Meiotic 

82. First polar body is formed at _____ stage of oogenesis.  

Ans: First meiosis 
83. When two dissimilar gametes are fused with each other is called ______.  

Ans: Anisogamy 

84. The union of similar type of gametes called as ______.  

Ans: Isogamy 

85. The duration of gestation period in pregnant women is ______.  

Ans: 280 days 

86. ______ cells of testis secrete testosterone hormone.  

Ans: Interstitial cells 

87. Oestrogen hormone is secreted by ______ cells of Graafian follicles.  

Ans: Follicular cells 

88. _______ reproductive organ in woman is homologous to the penis of man.  

Ans: Clitoris 
89. ______ layer of uterus of woman undergoes significant changes during menstrual cycle.  

Ans: Endometrium 

90. The outer most layer of uterine wall is called ______. 

 Ans: Endometrium 

91. ______ hormone regulates the changes of uterine endometrium during pregnancy. 

 Ans: Progesterone 

92. The development of embryo occur inside the body of human female is ______.  

Ans: Uterus 

93. ______ hormone stimulates corpus luteum of ovary to produce progesterone.  

Ans: Luteinizing hormone 

94. ______hormone is responsible for the growth of mammary glands. 
 Ans: Oestrogen 

95. ______structure of ovary produces Relaxin hormone. 

 Ans: Corpus luteum 

96. ______ hormone of anterior pituitary is responsible for controlling the growth, maintenance and 

function of gonads. 

 Ans: Follicle Stimulating Hormone(FSH) 

97. The proliferative phase extends up to ______. 

 Ans: 10-12 days 

98. The abnormal small size of breast or mammary glands in female is called ____. 

  Ans: Hypomastia 

99. The middle piece of human sperm is surrounded by a peripheral layer of cytoplasm called _____.  

Ans: Manchette 
100. Centrioles are located in __-__ part of the sperm. 

 Ans: Neck 

101. The sperm donates _____ to the egg during fertilization which takes part in the formation of nuclear 

spindle. 

 Ans: Centriole 

102. The acrosome contains ______ enzyme in mammals which helps in penetration of sperm.  

Ans: Hyaluronidase 

103. _______ hormone regulate the growth, maintenance and function of secondary male sex organs. 

 Ans: Testosterone 

104. _______ hormone regulates the puberty in male 

.Ans. Testosterone 
105. The presence of functional mammary glands in male is called _______. 

 Ans: Gynaecomastia 

106. Sertoli cells are regulated by _____ hormone of pituitary gland. 

 Ans: Follicle Stimulating Hormone(FSH) 

107. ______ is the Structural and functional unit of Testis. 
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 Ans: Seminiferous tubule 

108. Inhibin hormone is secreted from the ______ cell of testis. 

 Ans: Sertoli cells 

109. The process of release of spermatozoa from the seminiferous tubule is called ______. 

 Ans: Spermiation 
110. The beginning of production of sperm in boys is called ______. 

 Ans: Spermarche 

111. In the male reproductive system, sperms are concentrated in the ______. 

 Ans: Epididymis 

112. The absence of living sperms in semen of male is called _____. 

 Ans: Azoospermia 

113. The normal duration of menstrual cycle in human female is ______. 

 Ans: 28 days 

114. The entry of sperm into the vagina is called ______. 

 Ans: Insemination 

115. In females, fertilization takes place in ______ of fallopian tube. 

 Ans: Ampullary-isthmic junction 
116. The germ hill is found in ______ of the ovary.  

Ans: Graafian follicle 

117. The starting stage of menstruation in girls called ______. 

 Ans: Menarche 

118. A clot of blood found in the remnants of the ruptured Graafian follicle after ovulation to form corpus 

luteum is called ______. 

 Ans: Corpus haemorragium 

119. ______ produced after the fertilization of ova. 

 Ans: Zygote 

120. The ploidy of first polar body is ______. 

 Ans: Haploid 
121. Human egg undergoes ______ cleavage after fertilization. 

 Ans: Holoblastic 

122. The covering of egg is called _____ membrane. 

 Ans: Vitelline membrane 

123. Polar bodies are formed during the process of _____. 

 Ans: Oogenesis 

124. The cell organelle responsible for the formation of acrosome in sperm is ______. 

 Ans: Golgi complex 

125. The cells formed by the division of zygote are called ______. 

 Ans: Blastomeres 

126. The unicellular zygote undergoes cleavages to form a solid ball of cells called _____.  

 Ans:Morula 
127. The cavity of gastrula is called ______. 

 Ans: Archenteron 

128. The process of union of sperm and ovum is called ______. 

 Ans: Fertilization 

129. The process of acquiring the capacity to fertilize the egg by the sperm is called ______. 

 Ans: Capacitation 

130. Female gametes in human are conveyed from the ovary to the uterus through _____. 

 Ans: Fimbriated funnel 

131. In the cells of testis ______ type of cell division occurs at different phases during the process of 

spermatogenesis. 

 Ans: both mitotic and meiotic 
132. The process of early mitotic division of zygote is called _______. 

 Ans: Cleavage 

133. The primordial germ cells in the inner lining of seminiferous tubules undergo ______ divisions to form 

spermatogonia. 

 Ans: Mitotic 
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134. The morphogenetic cell movements occur during ______. 

 Ans: Gastrulation 

135. The temporary association between the foetus and uterine wall of the mother is called _____.  

Ans: Placenta 

136. Labour pain can be induced by the injection of _____ hormone from the external source. 
 Ans: Oxytocin 

137. ______ hormone stimulates lactation after parturition. 

 Ans: Prolactin 

138. _______ number of ova are produced from a single primary oocyte. 

 Ans: One 

139. _______ number of polar bodies are formed from a primary oocyte at the end of Oogenesis. 

 Ans: Three 

140. _______ process establishes the diploid number of chromosomes. 

 Ans: Fertilization 

141. The union of male and female pronuclei is called ______. 

 Ans: Amphimixis 

142. ______ is the first stage of human development. 
 Ans: Zygote 

143. Human Chorionic Gonadotropin is secreted from ______. 

 Ans: Placenta 

144. ______ germ layer contributes to the formation of liver in humans. 

 Ans: Endoderm 

145. The other name of trophoblast cells lying over the embryonic disc is ______. 

 Ans: Cells of Rauber 

146. Cells of germinal epithelium which enter into multiplication phase during gametogenesis are ______. 

Ans: Primordial Germ Cells 

147. ___-__ name is given to human placenta. 

 Ans: Chorio-allantoic  placenta 
148. The outer surface of the Chorion, in humans, develops a number of finger like projections known as 

______. 

 Ans: Chorionic villi 

149. ______ foetal membrane takes part in the formation of placenta in man. 

 Ans: Chorion 

150. The process of synthesis of yolk in the oocyte of female is known as _____. 

 Ans: Vitellogenesis 

151. The process in which a zygote divides to form an embryo is called as _____. 

 Ans: Embryogenesis 

152. ______ number of cleavages are completed in 16 celled stage in a human egg. 

 Ans: Four 

153. ______ germ layer gives rise to internal ear. 
 Ans: Ectoderm 

154. ______ type of fertilization occur in the uterus of a human female. 

 Ans: Internal 

155. ______ fluid protects the human embryo. 

 Ans: Amniotic fluid 

156. Central part of ovary is called ______. 

 Ans: Medulla of ovary / Zona vasculosa 

157. Bartholin’s gland of female is analogous to ______ gland og male reproductive system. 

 Ans: Bulbo-urethral glands of male 

158. In ________ Phylum, the organisms reproduce by Binary fission.  

Ans: Phylum-Protozoa 
 

 


